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B Coupute  P(Z<1.5)
P = Pnorm (LS)

2) Compute P(Z>15)
p = P(2>1.5)=|-P(2< Ls)

= I‘—PMMCLS)
D) Compute P (1< 2 < 1.5)

P ?(“IZZ-<I.S):= P(2<).5) — P2 < -1)
s !PMI"M-(‘,S) - PM'—'M(")

q)Cowrw/-c 'P(Z<—l o Z>,5>
p=P(2<-1 o 25]58) = Plz<-1) + P(2>)5)
='PMrw("l>+ [I'PurM('-s)]

f)CaMwa P( ’Zl( LS’)
p= PClglels) = P (-5 <2< Ls)
= Fn,,rm(lS') — prerm (“"5>

Sb) Ccufwl-c P(l2'<l-5) wsing sawmﬁg ©

Two rcﬂg areas luve ¢Iu¢r{ Pr;L
Plrs <240 — P(o < 2.1.5)
Tewo green areas have ezw} phL.

P(Z<-1.5) = P(15<2)
Pl-1.5 < 2<o)=lp — P(z <-1.5)

-lS e 1.5

p= ?( lZl‘ I'S>= 2 ZP(vl.S <2 zo)z
=2 % ~PCzc-1s)
= 2% — procwe CLY T e Aus #)

Pls«2<15) = P(2<1.5) - Iy,
c=PClal<l.8)= 2] Plo<z<1s)Y

=2l Pzets)-%(
= Q. I PM"\M— (l-S) - IAL 1@Augﬂ—2.
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6) cow.()u,{-e, ?( 12}> [,5’) usl‘na Semme#va
p=P(l21215) = P(g2-1.5) + P(a >1.5)
= & [P(ze-15)]

= X [‘Pmm<-(5)1



‘73 Fad erihicel Er\lof(u, So ‘/Ld' 'P(2—43) = .07

= 3norm (.07)

X.)‘F‘\“[ c,n'}-n'cu{ t—VA./ue So ‘MAJ— P(Z>Z)=.07
Plz<2)= (-Pz-2)

=|—-.0%
]

2= quom(|-.0%) Wg.wm(.‘is) ’

‘l) Fad  evibienl 2-valwe 30 Hot P()z) >2) = .02

Tws red areas have ezwx.[ P»L,
PCac2<0) = P02 <2)
Two 3"“"" areas luve czcu,l P»L

P(2<-2) = P(z22)
> TP P(|2152) =69, Hhen whet s P(Z<2) 2
P(g>2) = I/LZP(12)>2>K

Plz<z)= |- P(352)
=~ Y% [P(lz]>2>7
=|- Y% [.077

2= gnoru (l— ¥y Z.D?])

10) Frad the eibeal z-valee so fdot
_ Pllzl<z) =.o0%
=T Pllzl<2) =.07 then whet i PR<2)2
Plo<z<2) = % P([|z]<2)
P(2<2) = Y% + Plo<z<3:)
= %+ P(iaes)]
= o + Yy (.o?)

Z:gwu(vz"' ’/7,(.07)) &= Hus &1

—
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PCl2l>2) = |- P(lz)1<2)
=|-.07 = (43
P(2<z) = |- P(2>e)
= |- %4 p(la]>2)
=1- 1% [.92]
2= gnorm Ci-% (D) <= A 2
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|- % [1-.027 = [-1% + Y% (o)
=Y +Y (.62)
g;m as AM#‘
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1) Bk 2 ot PL2]22) =092 (e P(z;») ‘
( Rparkt bhin lobing b citea | sovlu

—-‘b:L“Q— PUlz]>2) =02, then whet is P(<-2)? o e Lo P(l2152)
‘ p oc P([z]<2) v
R S PR much  easier
m Plz)>2) = Py<-2) + P(2>2) T E
R = AL P(2<-2) -2 et
P(g<-2) = % P(|z]>%) + Pa<-3)="% P([z]>2)
Z<-2) = /2. TC[2]|>% |
= 5 (o%) - e P(2<-3)= 1% [l— P(lZl‘z)]

z = ‘guorm (I/L (-°7>>

b) Fud 2 so that PUI3)<2) =67 (e Pl5<-2))
P(l1z2]>2) = |- P(lzlcz2)

= [-.07 = .98
P(Z<-z) = % P(|z]>2)
=% (,93)

2= —gnorm(l/?— (.13) )

%‘/z.( [-.07) = Y - 14_(.07)
= V,_—P(—z<2‘0>




